|
o
&

d m™pb/GeVA

t,had
H
(@)

&

2 )
do/de

H
(@)
1,

[EEY

Ratio to ATLAS

13000 GeV pp tt
A Y L A L L B B I %7
c

I top 10

— p (ATLAS semileptonic ttbar) =

L 1=

- —{LO

N e

- A
S

| |
o
o

— — §

—m ¥ m 32

B u ]

B 1%
™
<
(40

= =g

~ m  ATLAS 1o

~ & Pythia 6.428 346 12

B Pythia 6.428 347 15

B Pythia 6.428 348 e

Pythia 6.428 349 c

| —A— Pythia 6.428 370 18

— -1 0N

— ] §

— - O

- — O

i T U U S RO AR S o

— =2
1

- [] _

—0.5
L . . T T T S l
500 1000 1500 2000

t had [G eV]

tbar{t
}

50
in [1160,3000] [GeV]



	Contents
	Page 1


